\ TeCNOROT

STEERING & SUSPENSION PARTS

=NEW ITEMS SALES CAMPAIGN

*Bu dekumandaki tum aciklarmalarin, arac parca numardl lan ve veriler sadece bilgi amag hohr
All doroduct descriptions, part numbers and data included in this document are used for infrormation purpuses only.

WORLDWIDE MARKET

IR Tl

www.teknorot.com
info@teknorot.com




e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. A-171
Lateral Arm

Weight: 081  Length: 295
MODEL NO BODY CODE
q7 4M
COMPONENTS NUMBER
< SB 1090
Q SB 1091

TEKNOROT REF: A-512K
Steering Tie Rod Hit

1 ' ) ’a:
Weight: 0678  Length. 1276
MODEL NO BODY CODE
A4 802 8E5, B5

Bolt Metric. M14X1,56  Housing Metric: M16X1,5

YEAR DIRECTIONS
Rear Lower
2017- Rearward
NAME DIRECTIONS
Lateral Arm Rear Lower
Bushing Rearward
Lateral Arm Rear Lower
Bushing Rearward
with accessories

YEAR

1894-2001 Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

ADAPTABLEFOR ALJ/

OEMNO

4AMO501529L

OEMNO

AMOBO15239N* AMO501529L*

AMOBO15239N* AMO501529L*

ADAPTABLEFOR ALJ/

OEMNO

4004228214, BEO4228210



[ =
{» T&XNOROT

TEKNOROT REF: A-512K
Steering Tie Rod Hit

-

T

Weight: 0678  Length: 1276

MODEL NO BODY CODE

A4 8E2 BES, BE

TEKNOROT REF: A-512K
Steering Tie Rod Hit

-

Weight: 0678 Length: 1276

MODEL NO BODY CODE

A4 8EC, BED

Bolt Metric: M14X15  Housing Metric: M16X1,5

2001-2004 Front

Bolt Metric: M14X15  Housing Metric: M16X1,5

2004-2008 Front

ADAPTABLEFOR ALJ/

with accessories

OEMNO

YEAR DIRECTIONS

400422821A, BE04228210

ADAPTABLEFOR ALJ/

with accessories

OEMNO

YEAR DIRECTIONS

4004228214, BEO4228210

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: A-512K
Steering Tie Rod Hit

-5

T

Weight: 0678 Length: 1276

MODEL NO BODY CODE

A6 4B, C5

TEKNOROT REF: A-512K
Steering Tie Rod Hit

-5

Weight: 0678 Length: 1276

MODEL NO BODY CODE

A8 402, 408

Bolt Metric: M14X15  Housing Metric: M16X1,5

1997-2005 Front

Bolt Metric: M14X15  Housing Metric: M16X1,5

1894-2002 Front

aign

ADAPTABLEFOR ALJD/
with accessories

YEAR DIRECTIONS

OEMNO

400422821A, BE04228210

ADAPTABLEFOR AL/
with accessories

YEAR DIRECTIONS

OEMNO

4004228214, BEO4228210

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



=
o ENORaT

TEKNOROT REF: A-512K
Steering Tie Rod Kit

Weight: 0678  Length: 1276

MODEL NO BODY CODE

PASSAT B5,B55

TEKNOROT REF: A-648

Suspension Control Arm and
Ball Joint Assembly

Weight: 3636  Length: 386

MODEL NO BODY CODE
T 83
COMPONENTS NUMBER
J A-644
‘ SB487
f":f SB1312

Bolt Metric: M14X1,6  Housing Metric: M16X1,5

19597-2005 Front

Bolt Metric: M12X1,5

ADAPTABLE FOR VUL,‘(SWAGEN
with accessories

YEAR DIRECTIONS

400422821A, BE04228210

ADAPTABLEFOR ALJ/

VEAR DIRECTIONS DEMNO
o006-2014  TTOMERON 8J04071510
Lower
NAME DIRECTIONS OEM NO
Ball Joint Front Right 8J0407366
Lower
Lontrol Arm Center 1K0407182, 500407182
Bushing
GontrolArm | Front Lower 8104071510% 8104071520*
Bushing Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Compaion

TEKNOROT REF: A-648 ADAPTABLEFOR AUD!

Suspension Control Arm and
Ball Joint Assembly

/A TECNOROT

STEERING 6 SUSPENSION PARTS

Weight: 3636  Length: 388  Bolt Metric. M12X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
T Fv3 2014- Front Right 8J04071510
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
J A-644 Ball Joint Front Right 80407366
Lower
‘ SB 487 Control Amn Center 1K0407182, 500407182
Bushing
").f SB 1312 Control Amn Front Lower 804071510 8J04071520*
g Bushing Outer
TEKNOROT REF: A-649 ADAPTABLEFOR AL/
Suspension Control Arm and
Ball Joint Assembly

Weight: 3636  Length: 3668  Bolt Metric: M12X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
T 8J3 2006-2014  Front Left Lower 8104071520
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

A-645 Ball Joint Front Left Lower 8J0407365

Bushing

SB1312 GontrolArm | Front Lower 8J04071510* 8J04071520*
Bushing Outer

‘ SB487 Lontrol Arm Center 1K0407182, 500407182
o

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT i

TEKNOROT REF. A-649 ADAPTABLEFOR AUD!

Suspension Control Arm and
Ball Joint Assembly

:'-_ -" B
Weight: 3636  Length: 388  Bolt Metric. M12X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
T FV3 2014- Front Left Lower 8J0407152D
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
L A-645 Ball Joint Front Left Lower 80407365
Control Arm
. SB 487 ) Center 1K0407182 500407182
Bushing
: :)" SB 1312 control Arm Front Lower 8/04071510% 8104071520
la Bushing Outer
TEKNOROT REF: AC-125 AOAPTABLEFOR ACLIRA

Lateral Arm

-

i

Weight: 084 Length: 217  Bolt Metric. M12X125  Housing Metric. 7121

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
71 ad 952'7UA5’ 2004-2008  Rear Upper 52990SEPAO3
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
o= SB 1052 Legig ‘5;7//.;‘; m Rear Upper 52390SV3A01* 52400S3VA01*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: AC-255 ADAPTABLEFOR ACURA
Suspension Ball Joint

e\

Weight: 0395  Length: 843  Bolt Metric: M14X2

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
RSX 2nd Gen 2001-2005 Front Lower 5121556MA0O
TEKNOROT REF: AC-261 wosmEEroR ACLIRA
Steering Tie Rod End

4

Weight: 1021  Length: 2455  Bolt Metric. M12X1,25  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RL 1996-2004 Front Right 53540573003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS ampalgn

TEKNOROT REF. AC-261 ADAPTABLEFOR ACLIRA
Steering Tie Rod End "

'i‘

Weight: 1021  Length. 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
L IstGen, UAI-UA3 ~ 1996-1998 Front Right 53540573003
TEKNOROT REF: AC-261 ADAPTABLEFOR HONDA
Steering Tie Rod End

'i‘

Weight: 1021  Length.: 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LEGEND 1996-2004 Front Right 53540573003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

&=
QW sreenine o susrension ranrs mpaign

TEKNOROT REF. AC-261 ADAPTABLEFOR HONDA
Steering Tie Rod End

4

Weight: 1021  Length. 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
LEGEND 2nd Gen 2005-2012 Front Right 53540573003
TEKNOROT REF: AC-262 ADAPTABLEFOR ACLIRA
Steering Tie Rod End

Weight: 1021  Length: 2455  Bolt Metric. M12X1,25  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RL 1996-2004 Front Left 53560573003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS ampalgn

TEKNOROT REF: AC-262 ADAPTABLE FOR ACLIRA
Steering Tie Rod End "

o

Weight: 1021  Length. 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
7L IstGen UAI-UA3  1996-1998 Front Left 53560523003
TEKNOROT REF: AC-262 ADAPTABLEFOR HONDA
Steering Tie Rod End

o

Weight: 1021  Length.: 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LEGEND 1996-2004 Front Left 53560573003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: AC-262
Steering Tie Rod End

Weight: 1021  Length. 2455  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

LEGEND 2nd Gen 2005-2012 Front Left

TEKNOROT REF: B-1004K
Suspension Ball Joint Kit 4X4, with kit big nut

Weight: 0932  Length: 1325  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS

5-SERIES G30, G531 2017- Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR HONDA

OEMNO

53560523003

ADAPTABLEFOR BMW

OEMNO

31106852536



A\ TXNOROT

&=
‘\) STEERING E SUSPENSION PARTS mpalgn

TEKNOROT REF. B-1004K ADAPTABLEFOR BMW
Suspension Ball Joint Kit 4X4, with kit. big nut

Weight: 0932  Length: 1325  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

6-SERIES G32 2017- Front Lower 31106852536
TEKNOROT REF. B-1004K ADAPTABLEFOR BMW
Suspension Ball Joint Kit 4X4, with kit, big nut

Weight: 0932  Length: 1325  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

7-SERIES G11 GI12 2017- Front Lower 31106852536

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

A\ STEERING 6 SUSPENSION PARTS ampaign

TEKNOROT REF: BU-191 ADAPTABLEFOR BLIICK
Steering Tie Rod End AWD

(S

Weight: 067  Length: 160  Bolt Metric: M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
RENDEZVOUS 2002-2007  RearOuter 68879501, 15232654% 10412911*
TEKNOROT REF.: BU-191 ADARTABLERCRNCIHIEVROLE T
Steering Tie Rod End AWD

(S

Weight: 067  Length: 160  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

UPLANDER 2005-2008 Rear Outer 86679501, 1562526854*, 10412911*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/A TECNOROT

STEERING 6 SUSPENSION PARTS ampalgn

TEKNOROT REF. BU-191 ADAPTABLEFOR PONTIAC
Steering Tie Rod End AWD

(S

Weight: 067  Length: 160  Bolt Metric: M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
AZTEK 2001-2005 Rear Outer 88879501, 15232854* 10412911*
TEKNOROT REF.: BU-191 ADAPTABLEFCR SATURN
Steering Tie Rod End AWD

(S

Weight: 067  Length: 160  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RELAY 2005-2007 Rear Outer 86679501, 1562526854*, 10412911*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: BU-206
Suspension Stabilizer Bar Link

Weight: 0358  Length: 100

MODEL NO BODY CODE

REGAL 6th Gen

TEKNOROT REF. BU-206
Suspension Stabilizer Bar Link

Weight: 0,356  Length: 100

MODEL NO BODY CODE

MALIBU gth Gen

N
paign

ADAPTABLEFOR BLIICK
SPORTBACK

YEAR DIRECTIONS OEMNO
2016- Rear 84451421
ADAPTABLEFOR CHEVROLET
HYBRID b=

ol s Il

A
dod N

LR
X
¢

YEAR DIRECTIONS OEMNO

2016- Rear 84451421

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



s T=
k} ST FW#NQEUNDD I

TEKNOROT REF. CD-164 ADAPTABLEFOR CADILLAC
Suspension Ball Joint

B

Weight: 0652  Length: 103 Bolt Metric: M14X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
KBO0635, 25758283, 25758280,
CT7s 1stGen 2003-2007 Front Lower 25758081
TEKNOROT REF. CD-191 ADAPTABLEFOR CADILLAC
Steering Tie Rod End
<

I8

Weight: 1025 Length: 192  Bolt Metric: M12X1,75 — Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

Cc76 1stGen 2016- Front Right 23183693

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

X o
QW sreenine o susrension ranrs ampaign

TEKNOROT REF. CD-192 ADAPTABLEFOR CADILLAC
Steering Tie Rod End

(4]

¥l

Weight: 1025  Length: 192  Bolt Metric: M12X1,75  Housing Metric: M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
C76 1stGen 2016- Front Left 23183691
TEKNOROT REF: CD-216 ADAPTABLEFOR CADILLAC

Suspension Stabilizer Bar Link

-

Weight: 032  Length: 102  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

C7s 2nd Gen 2008-2014 Rear Right 25964514

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

A4
\;STFEPJNGGS{JSDFNSfON PARTS !

TEKNOROT REF. CD-217 ADAPTABLEFOR CADILLAC
Suspension Stabilizer Bar Link

Weight: 032  Length: 102  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

Ccrs 2nd Gen 2008-2014 Rear Left 259645183

TEKNOROT REF: CH-1005

Suspension Ball Joint
e

Weight: 0685  Length: 106 Bolt Metric: M14X2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CORVETTE C4 1984-1996 Front Lower 9769599

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=XNOROT

TEKNOROT REF. CH-1006 ADARTABLERORSBHEVROLET
Suspension Stabilizer Bar Link Steel type
YEAR ONLY
2002-2003
Weight: 0544  Length: 90  Bolt Metric: M12X1,75
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
TRAILBLAZER 1st Gen 2002-2009  Front Right 12479233
TEKNOROT REF: CH-1006 AOAPTAELEFR GMC
Suspension Stabilizer Bar Link Steel type
YEAR ONLY
2002-2003
Weight: 0544  Length: 90  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
ENVOY 2nd Gen 2002-2009 Front Right 12479233

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



» T&KNOROT
TEKNOROT REF. CH-1006 ADAPTABLEFOR [SUZU

Suspension Stabilizer Bar Link Steel type '
.

Weight: 0544  Length: 90  Bolt Metric: M12X1,75

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
ASCENDER 2003-2008 Front Right 12479233
TEKNOROT REF. CH-1007 ADAPTABLEFOR GHEVROLET
Suspension Stabilizer Bar Link Steel type
-
: YEAR ONLY
2002-2003
Weight: 0544  Length: 90  Bolt Metric: M12X1,75
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
TRAILBLAZER 1stGen 2002-2009 Front Left 12479231

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: CH-1007 ADAPTABLEFOR GMIC
Suspension Stabilizer Bar Link Steel type
YEAR ONLY
2002-2003
Weight: 0544  Length: 90  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ENVOY 2nd Gen 2002-2009 Front Left 12479231
TEKNOROT REF. CH-1007 ADAPTABLEFOR [SLJZL/
Suspension Stabilizer Bar Link Steel type '
= -
.I. '.-.4 _ j
Weight: 0544  Length: 90  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ASCENDER 2003-2008 Front Left 12479231

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: CH-10081

Suspension Control Arm and Over 7500 Gvw
Ball Joint Assembly

Weight: 4008  Length: 383  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS
. Front Right
EXPRESS 2500 1stGen 1996-2002 Upper
COMPONENTS NUMBER NAME DIRECTIONS
%
& CH-785 Ball Joint Front Upper

TEKNOROT REF: CH-10081

Suspension Control Arm and Over 7500 Gvw
Ball Joint Assembly

Weight: 4008  Length: 383  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
EXPRESS 3500 1stGen 1896-2002 Upper
COMPONENTS NUMBER NAME DIRECTIONS
%
& CH-785 Ball Joint Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR GHEVROLET

OEMNO

RKBZ21234, 125459598

OEMNO

15969262

ADAPTABLEFOR CHEVROLET

-, r—
o e —

OEMNO

RKE21234, 12543998

OEMNO

15969282



‘a i 1, = E ,dgﬁ H :’: ew ltems Sales Campaign
TEKNOROT REF: CH-10081 C owmacm CHEVROLET

Suspension Control Arm and C1500
Ba/{/o((?tAssemb/y YEAR ONLY
- - ' 1995-1999

Weight: 4008 Length: 363  Bolt Metric: M16X15

Front Right
Upper

SUBURBAN 8th Gen 1992-1999 RKBZ21234, 125459598

‘ CH-785 Ball Joint Front Upper 15969282

TEKNOROT REF: CH-10081 C sosmasm CHEVROLET

Suspension Control Arm and C2500
Ba/{Ja{thsseml?/y YEAR ONLY
- W ' 1995-1999

Weight: 4008  Length: 383  Bolt Metric: M16X1,5

Front Right
Upper

SUBURBAN 8th Gen 1992-1999 RKEZ21234, 125439598

CH-785 Ball Joint Front Upper 15969282

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 23




s T=
k} ST FW#NQEUNDD I

TEKNOROT REF: CH-10081 ADAPTABLEFOR OHEVROLET

Suspension Control Arm and
Ball Joint Assembly

Weight: 4008 Length: 383  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
TAHOE 1st Gen 1992-2000 7 ‘ZTDI /féfm RKB21234, 12543998
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
—iR
& CH-785 Ball Joint Front Upper 158969282
TEKNOROT REF: CH-100891 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and Over 7500 Gvw
Ball Joint Assembly

Weight: 4008  Length: 383  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 2500 1stGen 1996-2002  Front Left Upper RKB21233, 12543997
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
—iR
& CH-785 Ball Joint Front Upper 15969282

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: CH-10091

Suspension Control Arm and Over 7500 Gvw
Ball Joint Assembly

Weight: 4008  Length: 383  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
EXPRESS 3500 1stGen 1996-2002  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS

—iR
& CH-785 Ball Joint Front Upper

TEKNOROT REF: CH-10091

Suspension Control Arm and C1500
Ball Joint Assembly YEAR ONLY
. 1995-1999

Weight: 4008  Length: 383  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS
SUBURBAN 8th Gen 1992-1999  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
i
& CH-785 Ball Joint Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR GHEVROLET

-, r—
o e —

OEMNO

RKE21233, 12545997

OEMNO

15969262

ADAPTABLEFOR CHEVROLET

OEMNO

RKE21233, 12543997

OEMNO

15969282



{$ T=NOoROT

TEKNOROT REF: CH-10091
Suspension Control Arm and

y . C2500
Ball Joint Assem,
4 YEAR ONLY
1995-1999
&
Weight: 4008 Length: 383  Bolt Metric. M16X15
MODEL NO BOOY CODE YEAR DIRECTIONS
SUBURBAN 8th Gen 1992-1999  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
—iR
& CH-785 Ball Joint Front Upper
TEKNOROT REF. CH-10091
Suspension Control Arm and
Ball Joint Assembly
&
Weight: 4008  Length: 383  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS
TAHOE 1stGen 1992-2000  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
—iR
& CH-785 Ball Joint Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR OHEVROLET

OEMNO

RKE21233, 12545997

OEMNO

15969262

ADAPTABLEFOR CHEVROLET

OEMNO

RKE21233, 12543997

OEMNO

15969282



/A TECNOROT

STEERING 6 SUSPENSION PARTS | ampalgn

TEKNOROT REF. CH-1013 ADAPTABLEFOR CHEVROLET

Steering Tie Rod 2WD: 16MM THREAD AT
STEERING GEAR: EXC Z71

-

Weight: 063  Length: 2735  Bolt Metric: M16X1,5  Housing Metric.: M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

COLORADO 1st Gen 2003-2012 Front Inner 19179723 8191797230
TEKNOROT REF: CH-1013 JOETAELEFOR GMO
Steering Tie Rod 2WD: I6MM THREAD AT

STEERING GEAR, EXC Z71

-

Weight: 063  Length: 2735  Bolt Metric: M16X1,5  Housing Metric.: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CANYON 1st Gen 2004-2012 Front Inner 19179723, 8191797230

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/T
o ENORaT Campeian

TEKNOROT REF: CH-1022 ADAPTABLEFOR (CHEVROLET

Steering Tie Rod End Z71 off road
Package

; YEAR ONLY
2006-2007

Weight: 06589  Length: 1145  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
COLORADOD 1st Gen 2003-2012 Front 19133624
TEKNOROT REF: CH-1022 ADAPTABLE FOR GMIC
Steering Tie Rod End 771 off road
Package
YEAR ONLY
2006-2007

Weight: 0589  Length: 1145  Bolt Metric. M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CANYON 1st Gen 2004-2012 Front 19133624

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘A TEXNOROT
4&) STEERING § SUSPENSION PARTS

TEKNOROT REF: CH-1026
Suspension Stabilizer Bar Link

A
Weight: 0413  Length: 298  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS

LUMINA 2nd Gen 1995-2001 Front Right

TEKNOROT REF. CH-1026
Suspension Stabilizer Bar Link

:
Weight: 0413  Length: 298  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS

G8 2008-2009 Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR OHEVROLET

OEMNO

92246156

ADAPTABLEFOR PONTIAC

OEMNO

92246136



%“N)\ 2 rﬁﬂgﬁqu

TEKNOROT REF: CH-1027 ADAPTABLEFOR OHEVROLET
Suspension Stabilizer Bar Link

Weight: 0413  Length: 298  Bolt Metric: M10X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
LUMINA 2nd Gen 1995-2001 Front Left 92246135
TEKNOROT REF: CH-1027 ADAPTABLEFOR PONTIAC

Suspension Stabilizer Bar Link

Weight: 0413  Length: 298  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

G8 2008-2009 Front Left 92246135

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. CH-1092
Lateral Arm

ADAPTABLEFOR GHEVROLET

Weight: 1695  Length: 360

gL

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MALIBU 7th Gen 2004-2012 Rear Upper 25850211
TEKNOROT REF. CH-126 ADAPTABLEFOR CHEVROLET

Lateral Arm with 4wheel disc

Weight: 2078  Length: 403

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MALIBU 7th Gen 2004-2012  Rear Right Lower 15292403

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TXNOROT - TEE

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: CH-126

ADAPTABLEFOR PONTIAC
Lateral Arm with 4wheel disc e -

Weight: 2078  Length: 403

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

G6 2005-2010  Rear Right Lower 15292403

ADAPTABLEFOR CHEVROLET

TEKNOROT REF: CH-127
Lateral Arm with 4wheel disc

Weight: 2078  Length: 403

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MALIBU 7th Gen 2004-2012  Rear Left Lower 152392404

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



L 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: CH-127 ADAPTABLEFCR PONTIAC

Lateral Arm with 4wheel disc

Weight: 2078  Length: 403

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

G6 2005-2010  Rear Left Lower 15292404

TEKNOROT REF: CH-180 ADAPTABLEFOR GMIC
Suspension Stabilizer Bar Link VEAR ONLY
2008-2009

Qe

Weight: 0182 Length: 1955  Bolt Metric: 3/8-16UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ENVOY 2nd Gen 2002-2009 Front 25784241

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



44 5 T&KNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: CH-366

Suspension Control Arm and
Ball Joint Assembly

Weight: 3752  Length: 362  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS
. Front Right
EXPRESS 1500 1stGen 1996-2002 Upper
COMPONENTS NUMBER NAME DIRECTIONS
i ) Suspension Ball
CH-984 oint Front Upper

TEKNOROT REF: CH-366

oot assemtly 9052000
._ y 1995-2000

Weight: 3752  Length: 3682  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS
. Front Right
TAHOE IstGen 1992-2000 Upper
COMPONENTS NUMBER NAME DIRECTIONS
1 i Suspension Ball
ﬁ CH-984 oint Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR GHEVROLET

12361036

OEMNO

15687080

ADAPTABLEFOR CHEVROLET

OEMNO

12361086

OEMNO

15667080



TEKNOROT REF. CH-367 ADAPTABLEFOR GHEVROLET

Suspension Control Arm and
Ball Joint Assembly

44 5 T&KNOROT

STEERING 6 SUSPENSION PARTS

Weight: 3752  Length: 362  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPRESS 1500 1stGen 1996-2002  Front Left Upper 12361035
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
ﬁ on-ggg | SusensionBall | o e 15687060
Joint
TEKNOROT REF: CH-367 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and
o YEAR ONLY

Ball Joint Assembly 1995-2000

Weight: 3752  Length: 3682  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TAHOE 1stGen 1992-2000  Front Left Upper 12361035
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
ﬁ CH-984 SUSDQJZ%?” Ball | rront Uper 15687060

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT aign

TEKNOROT REF: CH-418 ADAPTABLEFOR HEVROLET

Suspension Control Arm and PWD
Ball Joint Assembly

Weight: 6,036  Length: 367  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
BLAZER 2nd Gen 1995-2005 Lower 15003924
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
‘ CH-585 Ball Joint Front Lower 19122185, 22113159, 22145460
TEKNOROT REF. CH-418 e VROLET
Suspension Control Arm and RWD
Ball Joint Assembly

Weight: 6,036  Length: 367  Bolt Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

S10PICKUP 2nd Gen 1996-2004  Front Left Lower 15003923

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-585 Ball Joint Front Lower 19122185, 22113159, 22145460

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT aign

TEKNOROT REF: CH-419 ADAPTABLEFOR HEVROLET

Suspension Control Arm and PWD
Ball Joint Assembly

Weight: 6,036  Length: 367  Bolt Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
BLAZER 2nd Gen 1995-2005  Front Left Lower 15003923
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-585 Ball Joint Front Lower 19122185, 22113159, 22145460
TEKNOROT REF. CH-419 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and RWD
Ball Joint Assembly

Weight: 6,036  Length: 367  Bolt Metric: M14X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
S10 PICKUP 2nd Gen 1996-2004  TTONCRGN 15003924
Lower
COMPONENTS NUMBER NAME — DIRECTIONS OEMNO
‘ CH-585 Ball Joint Frontlower | 19122185, 22113159, 22145460

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT aign

TEKNOROT REF: CH-420
Suspension Stabilizer Bar Link

ADAPTABLEFOR GMIC
4x4; without Z08

Suspension Package
Weight: 0,32 Length: 118  Bolt Metric: M-12%1,75
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
JIMMY 2nd Gen 1995-2001 Front 15996064
TEKNOROT REF: CH-568 ADAPTABLEFOR GHEVROLET
Suspension Control Arm and AWD

Ball Joint Assembly

Weight: 251  Length: 281  Bolt Metric: 206 1/2"UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
BLAZER 2nd Gen 18995-2005 Upper 15661508
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o
‘ CH-595 Ball Joint Front Upper 19133669

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT veign

TEKNOROT REF: CH-568
Suspension Control Arm and

ADAPTABLEFOR OHEVROLET

‘ AWD
Ball Joint Assembly
Weight: 251  Length: 281  Bolt Metric: 206G 1/2"UNF
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
S10PICKUP ond Gen 1996-2004 " ‘ZE [féfm 15661508
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-595 Ball Joint Front Upper 19133669
TEKNOROT REF: CH-569 ADAPTABLEFOR GHEVROLET
Suspension Control Arm and AWD
Ball Joint Assembly
2 -
Weight: 251  Length: 281  Bolt Metric: 20G 1/2"UNF
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
BLAZER 2nd Gen 1995-2005  Front Left Upper 15661507
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-595 Ball Joint Front Upper 19133669

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/2
o ENOROT

TEKNOROT REF: CH-569 ADAPTABLEFOR GHEVROLET

Suspension Control Arm and AWD
Ball Joint Assembly

4
F
£

ammp

Weight: 251  Length: 281  Bolt Metric: 206G 1/2"UNF

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
S10 PICKUP 2nd Gen 1996-2004  Front Left Upper 15661507
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
~
‘ CH-595 Ball Joint Front Upper 19133669
TEKNOROT REF. CH-626 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and WD
Ball Joint Assembly

Weight: 4186  Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
ASTRO 2nd Gen 1895-2005 Upper 19133654
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
-
& il CH-625 Ball Joint Front Upper 86911367, 9767112
SB 1263

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/2
o ENOROT

TEKNOROT REF. CH-626 ADAPTABLEFOR HEVROLET

Suspension Control Arm and WD
Ball Joint Assembly

4
F
£

Weight: 4166  Length: 3265  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
BLAZER 2nd Gen 1995-2005 Upper 19133654
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
-
& s CH-625 Ball Joint Front Upper 88911387, 9767112
SB 12683
TEKNOROT REF: CH-626 ADAPTABLEFOR GMIC
Suspension Control Arm and WD
Ball Joint Assembly

Weight: 4186  Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
SAFARI 2nd Gen 1895-2005 Upper 19133654
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
-
& il CH-625 Ball Joint Front Upper 86911367, 9767112
SB 1263

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/2
o ENOROT

TEKNOROT REF. CH-627 ADAPTABLEFOR OHEVROLET

Suspension Control Arm and WD
Ball Joint Assembly

4
F
£

Weight: 4166  Length: 3265  Bolt Metric: 20 G 1/2 UNF

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
ASTRO 2nd Gen 1895-2005  Front Left Upper 19133653
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-
& s CH-625 Ball Joint Front Upper 88911387, 9767112
SB 1263
TEKNOROT REF. CH-627 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and WD
Ball Joint Assembly

Weight: 4186  Length: 3285  Bolt Metric: 20 G 1/2 UNF

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
BLAZER 2nd Gen 1995-2005  Front Left Upper 19133653
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-
& il CH-625 Ball Joint Front Upper 86911367, 9767112
SB 1263

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF. CH-627 ADAPTABLEFOR GMIC

Suspension Control Arm and WD
Ball Joint Assembly

Weight: 4166  Length: 3265  Bolt Metric: 20 G 1/2 UNF

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SAFAR/ 2nd Gen 1995-2005  Front Left Upper 19133653
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-
a s CH-625 Ball Joint Front Upper 88911387, 9767112
SB 1263
TEKNOROT REF: CH-668 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and
Ball Joint Assembly

Weight: 3418  Length: 359  Bolt Metric: M12X1,75

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
. Front Right
MALIBU 6th Gen 18997-2005 L ower 15216918
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
4 CH-1004 Ball Joint Front Lower 108365842* 22157023*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: CH-668 soseriaLercR PONTIAC
5 s

A TXNOROT

k STEERING 6§ SUSPENSION PARTS

Suspension Control Arm and
Ball Joint Assembly

Weight: 3418  Length: 359  Bolt Metric: M12X1,75

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
GRAND AM 5th Gen 1999-2005 ~ TOMERONE 15216918
Lower
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
‘ CH-1004 Ball Joint Front Lower 10965842 22157023
TEKNOROT REF: CH-669 ADAPTABLEFOR CHEVROLET
Suspension Control Arm and

Ball Joint Assembly

Weight: 3418  Length: 359  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MALIBU 6th Gen 1997-2005  Front Left Lower 15216919

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-1004 Ball Joint Front Lower 108365842* 22157023*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

&=
QW sreenine o susrension ranrs mpaign

TEKNOROT REF: CH-669 ADAPTABLEFCR PONTIAC

Suspension Control Arm and
Ball Joint Assembly

Weight: 3418  Length: 359  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
GRAND AM 5th Gen 1999-2005  Front Left Lower 15216919
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ CH-1004 Ball Joint Front Lower 108365842+ 22157023*
TEKNOROT REF: CH-734 ADAPTABLEFOR CHEVROLET
Lateral Arm
e =&

Weight: 1128  Length: 579

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

IMPALA 8th, 9th Gen 2000-2013 Rear Forward 20830846

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/2
o ENOROT

TEKNOROT REF: CH-735 ADAPTABLEFOR CHEVROLET
Lateral Arm

4
F
£

Weight: 1399  Length: O  Bolt Metric: M20X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
IMPALA 8th, 9th Gen 2000-2013 Rear Rearward 20830845
TEKNOROT REF. CI-653K ADAPTABLEFOR CfTROEN
Steering Tie Rod with accessories

AR -

o~

-

Weight: 0,518  Length: 2337  Bolt Metric: M14X1,5  Housing Metric: M12X1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

c2 M 2003-2009 Front 3612 E1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

&=
QW sreenine o susrension ranrs mpaign

TEKNOROT REF: CI-553K ADAPTABLEFOR (I TROEN
Steering Tie Rod with accessories

| e ————

-

h

Weight: 0518 Length: 2337  Bolt Metric: M14X1,5  Housing Metric: M12X1

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
C3 FC 2003-2009 Front 5612 E1
TEKNOROT REF: CR-435 ADAPTABLEFCRSCIHR Y SLER
Lateral Arm track bar

Weight: 1118  Length: 708

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TOWN & COUNTRY 3rd Gen 1995-2001 Rear 4684349

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



S TSXNOROT

e
QW srecnine o suseension pante es Campaign

TEKNOROT REF: CR-435 ADAPTABLEFOR CHRYSLER
Lateral Arm track bar

Weight: 1118  Length.: 708

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TOWN & COUNTRY 4th Gen 2001-2007 Rear 4684349
TEKNOROT REF. DO-353 ADAPTABLEFOR [JODGE

Steering Tie Rod W/ 5 Lug Wheels

- e —— " p

Weight: 0928  Length: 370  Bolt Metric: M12X15  Housing Metric.: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
558665383A0, 55366385A0,
RAM 1500 4th Gen 2006-2010 Front Inner 68037965, £VB0098

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF. DO-353 ADAPTABLEFOR RAM
Steering Tie Rod 5 Lug Wheels

YEAR ONLY

2011-2012

= ———

Weight: 0928  Length: 370  Bolt Metric: M12X1,5  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
553663853A0, 55366385A0,
1500 2011- Front Inner 6803296544 FV50098
TEKNOROT REF: DO-355 woPTiBErR DODGE
Suspension Ball Joint 4x4
4 YEAR ONLY
2000-2002
Weight: 0598 Length: 1094  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RAM 2500 3rd Gen 2000-2009 Front Upper 5015114AA%

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: DO-355

Suspension Ball Joint 4x4
‘ YEAR ONLY
2000-2002
Weight: 0598  Length: 1094  Bolt Metric: M16X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS
RAM 3500 3rd Gen 2000-2009 Front Upper

TEKNOROT REF: DO-371
Steering Tie Rod End

Weight: 119  Length: 182  Bolt Metric: M14X15  Housing Metric: 166G 1" UNF

MODEL NO BODY CODE YEAR

RAM 2500 4th Gen

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

2010-2013 Front Inner

N
paign

ADAPTABLEFOR JODGE

OEMNO

5015114AA%

ADAPTABLEFOR ODGE

OEMNO

68036940AD



{5 T&XNOROT

TEKNOROT REF: DO-371 ADAPTABLEFOR [JO0GE
Steering Tie Rod End

a

Weight: 119  Length: 182  Bolt Metric: M14X1,5  Housing Metric: 16G 1" UNF

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

RAM 3500 4th Gen 2010-2013 Front Inner 68036940A0
TEKNOROT REF: F-1003 AOAPTABLEFOR [YELL)
Steering Tie Rod

o E—— -

Weight: 0,733  Length: 3312  Bolt Metric: M1I6X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

DAILY v 2006-2011 Front 42532977

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: F-1031 ADAPTABLEFOR RAM
Steering Tie Rod End

3
~

Weight: 06556  Length: 112 Bolt Metric: M12X1,5  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
PROMASTER CITY 2015- Front 6826792944
TEKNOROT REF: F-1032 ADAPTABLEFOR RAM
Steering Tie Rod End
=

S

Weight: 0,556  Length: 112  Bolt Metric: M12X1.5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PROMASTER CITY 2015- Front 68267928AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




N TNOROT

A\ STEERING 6 SUSPENSION PARTS ampaign

TEKNOROT REF: F-166 ADAPTABLEFOR [ ANCIA
Suspension Stabilizer Bar Link

o )

Weight: 026  Length: 102

MODEL NO BODY CODE YEAR DIRECTIONS ODEMNO
THESIS 841 2002-2009  Front Right 60671725
TEKNOROT REF: F-167 ADAPTABLEFOR [ ANICIA

Suspension Stabilizer Bar Link

Weight: 026  Length: 110

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

THESIS 841 2002-20089 Front Left 60671724

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: F-251
Lateral Arm

g

Weight: 0847  Length: 3062

MODEL NO BODY CODE

JOURNEY

TEKNOROT REF: F-251
Lateral Arm

g

Weight: 0,847  Length.: 3062

MODEL NO BODY CODE

FREEMONT Jc

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2009-

YEAR

2011-

ADAPTABLEFOR JODGE

DIRECTIONS

Rear Upper

OEMNO

68079559AB, 66079535A0,
68079559AE

ADAPTABLEFOR FIAT

DIRECTIONS

Rear Upper

OEMNO

68079539AB, 66079539A0,
66079535AE



{$ T=NOoROT

TEKNOROT REF: F-600

Steering Tie Rod without power steering

o e (s

Weight: 06565  Length: 2974  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

DOBLO 119 2001-2010 Front Inner

TEKNOROT REF: F-813K

Steering Tie Rod Hit with accessories

R
E———cm— =

y -

\
B —

Weight: 0,738  Length: 2598  Bolt Metric: M16X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

JUMPER 1l 2006- Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FIAT

OEMNO

96845025

ADAPTABLEFOR I TROEN

OEMNO

1341021080, 4001 E4, 4001 E5,
1607744580



ry
{5 T=NOROT

TEKNOROT REF. F-813K ADAPTABLEFOR FIAT
Steering Tie Rod Hit with accessories

- o,
4 -

,
-

Weight: 0,738  Length: 25698  Bolt Metric: M16X15  Housing Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
1341021060, 4001 E4, 4001 E5,
DUCATO 2006- Front 1607744580
TEKNOROT REF: FO-1004 \oAPTABLEFOR FORD

Suspension Ball Joint

Weight: 0627 Length: 868  Bolt Metric: MI16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CROWN VICTORIA 1st Gen 1895-2002 Front Lower F8AZ3050A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

A\ STEERING 6 SUSPENSION PARTS ampaign

TEKNOROT REF. FO-1004 ADAPTABLEFOR | INCOLN
Suspension Ball Joint P :

Weight: 0627 Length: 868  Bolt Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TOWN CAR 1stGen 1990-1997 Front Lower F8AZ3050A
TEKNOROT REF: FO-1073 AOAPTABLEFOR FOR)
Steering Tie Rod
T _.E -

Weight: 073 Length: 3748  Bolt Metric. M14X1,5  Housing Metric: 15/16-20 UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
1F273280AA, F58753280A,
WINDSTAR 2nd Gen 1895-2003 Front Inner £7873280AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




[ =
{» T&XNOROT

TEKNOROT REF: FO-10782 ADAPTABLEFOR FOR
Lateral Arm Uﬂ/y sedan type

e

Weight: 1628  Length: 614

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
TAURUS 4th Gen 2000-2007  Rear Right Lower 1FZ175500FR
TEKNOROT REF: FO-10792 ADATABLEFOR FOL)

Lateral Arm only sedan type

L e

Weight: 1628  Length: 614

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TAURUS 4th Gen 2000-2007  Rear Left Lower 1FZ175500FL

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

&=
QW sreenine o susrension ranrs mpaign

TEKNOROT REF. FO-1083 ADAPTABLEFCR FORD

Steering Tie Rod Assembly torsion bar

@,
= ]

Y

Weight: 0357  Length: 1185  Bolt Metric: M12X1,75  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
EXPLORER 5rd Gen 2002-2005 Rear 2L275A972AA, 1L.275A972AB
TEKNOROT REF: FO-1083 ADAPTABLEFOR LINCOLN
Steering Tie Rod Assembly torsion bar
&

= |

Y

Weight: 0357 Length: 1185  Bolt Metric. M12X1,75  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

AVIATOR 2002-2005 Rear 2L275A972AA, 1L275A972AB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{5 TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: FO-10882 ADAPTABLEFOR FOR
Lateral Arm Uﬂ/y sedan type

D e

Weight: 1604  Length: 614

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
TAURUS 4th Gen 2000-2007 Rear 1F175500RR
TEKNOROT REF: FO-10892 sowemsEFoR FORD)

Lateral Arm Euro Market

Weight: 3664  Length: 490

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

C-MAX I 2010- Rear Lower 1894048, 1949978, 1719007

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF. FO-1094

Suspension Ball Joint
g-

Weight: 0601 Length: 815

MODEL NO BODY CODE YEAR

CROWN VICTORIA 1stGen 19595-2002

TEKNOROT REF: FO-1094

Suspension Ball Joint
»

Weight: 0801  Length: 81,5

MODEL NO BODY CODE YEAR

TOWN CAR 1st Gen 1890-1997

ADAPTABLEFOR FORD

DIRECTIONS

Front Upper

OEMNO

F7AZ3049AA, FEAZ3049AA

ADAPTABLEFOR [ INGOLN

DIRECTIONS

Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

F7AZ3048AA, FEAZ3049AA



A\ TXNOROT

&=
‘\) STEERING E SUSPENSION PARTS mpalgn

TEKNOROT REF. FO-1102 ADAPTABLEFOR FOR[

Steering Tie Rod End

b -

Weight: 1369  Length: 585  Bolt Metric: M14X1,5  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

EXPLORER 3rd Gen 2002-2005 Rear Outer 21275A972AA, 1L275A972AB
TEKNOROT REF. FO-1102 ADAPTABLEFOR [ INCOLN
Steering Tie Rod End

b -

Weight: 1369  Length: 5685  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

AVIATOR 2002-2005 Rear Outer 2L275A972AA, 1L275A972AB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{$ T=NOoROT

TEKNOROT REF. FO-1104
Suspension Ball Joint Monobearm axle

Weight: 0796  Length: 855  Bolt Metric: 3/4-16 UNF

MODEL NO BODY CODE YEAR DIRECTIONS

F-450 SUPER DUTY 2005-2016 Front Upper

TEKNOROT REF. FO-1104
Suspension Ball Joint Monobeam axle

Weight: 0,796  Length: 855  Bolt Metric: 3/4-16 UNF

MODEL NO BODY CODE YEAR DIRECTIONS

F-550 SUPER DUTY 2005-2016 Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

BC323049A

ADAPTABLEFOR [FORD

OEMNO

BC3Z3045A




{$ T=NOoROT

TEKNOROT REF: FO-11082 ADAPTABLEFOR FORD

Lateral Arm Estate version

Weight: 3627  Length.: 490

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
FOCUS Il europe made 2011-2018 Rear Lower 1931562
TEKNOROT REF: FO-1115 AOAPTABLEFOR L)
Suspension Ball Joirnt For Vehicles With GVW up
i t0 3850 Kg
Weight: 0,552  Length: 97  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
EXPEDITION 1stGen 1897-2003 Front Lower F5773V050BB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=XNOROT

TEKNOROT REF: FO-1115 soneTaEEFOR FORL)
Suspension Ball Joint For Vehicles With GYW up o N
& t0 3850 Kg "3
Weight: 0552  Length: 97  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-150 10th Gen 18997-2003 Front Lower F5773V0506B
TEKNOROT REF: FO-1115 sonPTAEEFOR FORL]
Suspension Ball Joint For Vehicles With GYW up
& t0 3850 Kg
Weight: 0552  Length: 97  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 10th Gen 1997-2003 Front Lower F5773V050BB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-1115 AOAPTABLEFOR O
Suspension Ball Joint For Vehicles With GYW up
& t0 3850 Kg
Weight: 0552  Length: 97  Bolt Metric: M16X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
RANGER [USA Type 1998-2011 Front Lower F5723V050BB
TEKNOROT REF. FO-1115 ADAPTABLEFOR [ INCOLN
Suspension Ball Joint For Vehicles With GVW up  (uiiliaad v,
& t0 3850 Kg
Weight: 0,552  Length: 97  Bolt Metric: M16X15
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
NAVIGATOR 1stGen 1997-2003 Front Lower F5773V050BB

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-1123 ADAPTABLEFOR FORD
Steering Tie Rod 4AWD L "

- =,

Weight: 081  Length: 3048  Bolt Metric: M16X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
F-150 11th Gen 2004-2008 Front 613732508
TEKNOROT REF. FO-1123 A N UL NV
Steering Tie Rod 4AWD o TR

- =,

Weight: 081 Length: 3048  Bolt Metric: M16X1,5  Housing Metric. M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MARK LT 1st Gen 2006-2008 Front 6L373280B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF. FO-1124
Suspension Ball Joint

Length: 75,5

Weight: 0,74 Bolt Metric: 3/4-16 UNF
MODEL NO BOOY CODE
F-250 SUPER DUTY st Gen

TEKNOROT REF. FO-1124
Suspension Ball Joint

Length: 75,5

Weight: 0,74 Boit Metric: 3/4-16 UNF
MODEL NO BOOY CODE
F-250 SUPER DUTY 2nd Gen

ADAPTABLEFOR FORO
4X2
YEAR DIRECTIONS OEM NO
18999-2007 Front Lower 503730500
ADAPTABLEFOR FORO
4xX2

YEAR DIRECTIONS OEM NO

2008-2010 Front Lower 5037530500

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



=
o ENORaT

TEKNOROT REF. FO-1124
Suspension Ball Joint

Weight: 0,74 Length: 755  Bolt Metric: 3/4-16 UNF
MODEL NO BOOY CODE
F-250 SUPER DUTY 3rd Gen

TEKNOROT REF: FO-1124
Suspension Ball Joint

Weight: 074  Length: 75,5  Bolt Metric: 3/4-16 UNF
MODEL NO BODY CODE
F-350 SUPER DUTY 1stGen

ADAPTABLEFOR FORO
4X2
YEAR DIRECTIONS OEM NO
2011-2016 Front Lower 505730500
ADAPTABLEFOR FORO
4X2
YEAR DIRECTIONS OEM NO
1899-2007 Front Lower 5037530500

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. FO-1124
Suspension Ball Joint

Length: 75,5

Weight: 0,74 Boit Metric: 3/4-16 UNF
MODEL NO BOOY CODE
F-350 SUPER DUTY 2nd Gen

TEKNOROT REF. FO-1124
Suspension Ball Joint

Length: 75,5

Weight: 0.74 Bolt Metric. 3/4-16 UNF
MODEL NO BODY CODE
F-350 SUPER DUTY 3rd Gen

ADAPTABLEFOR FORO
YEAR DIRECTIONS OEM NO
2008-2010 Front Lower 505730500
ADAPTABLEFOR FORO
4X2 .
YEAR DIRECTIONS OEM NO
2011-2016 Front Lower 5037530500

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT i

TEKNOROT REF. FO-1125 ADAPTABLEFOR FORD
Suspension Stabilizer Bar Link

Weight: 066  Length: 241  Bolt Metric: M12X1,75

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
EXPLORER UN105/UN150 1995-2001 Rear YL2Z5K484AA, F5775K484A
TEKNOROT REF: FO-1142 ADAPTABLEFOR (R[]
Steering Tie Rod End FOR SHELBY, GT350
*

¥

Weight: 0,566  Length: 112  Bolt Metric: M10X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MUSTANG 6th Gen 2016- Front FR3Z3A1308B

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



—~

TEKNOROT REF: FO-1156A

Suspension Stabilizer Bar Link Metal type
; YEAR ONLY
\ 2009

Weight: 0491 Length: 280  Bolt Metric: M12X1,76  Housing Metric: M10X1,5

MODEL NO BODY CODE YEAR

FLEX 1st Gen

TEKNOROT REF: FO-1157A

Suspension Stabilizer Bar Link Metal type

YEAR ONLY
2009

Weight: 0491  Length: 260  Bolt Metric. M12X1,75  Housing Metric: M10X1,5

MODEL NO BODY CODE YEAR

FLEX 1st Gen

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

2009-2012 Front Right

DIRECTIONS

2009-2012 Front Left

ADAPTABLEFOR FORD

OEMNO

8ABZ5K484A

ADAPTABLEFOR [FORD

OEMNO

8A875K483A




TeNOROT

A4
\;STFEPJNGGS{JSDFNSfON PARTS !

TEKNOROT REF. FO-1181 ADAPTABLEFOR FOR[
Steering Tie Rod End

Weight: 07681  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
BRONCO 1980-1996  Front Right Outer EOTZ3A131C
TEKNOROT REF: FO-1181 ADAPTABLEFOR (R[]
Steering Tie Rod End RWD

Weight: 0781  Length: 140  Bolt Metric. M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

E-350 19680-1997  Front Right Outer EOTZ3A1310

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

&=
QW sreenine o susrension ranrs mpaign

TEKNOROT REF. FO-1181 ADAPTABLEFOR FOR[
Steering Tie Rod End

Weight: 07681  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-100 1980-1983  Front Right Outer EOTZ3A131C
TEKNOROT REF: FO-1181 ADAPTABLEFOR (R[]
Steering Tie Rod End RWD

Weight: 0781  Length: 140  Bolt Metric. M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-150 1880-1996  Front Right Outer EOTZ3A1310

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-1181
Steering Tie Rod End RWD

Weight: 07681  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

F-250 1980-1997  Front Right Outer

TEKNOROT REF. FO-1181
Steering Tie Rod End RWD. USA TYPE

Weight: 0,781  Length: 140  Bolt Metric: M14X15  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

RANGER 1983-1997  Front Right Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

EOTZ3A151C

ADAPTABLEFOR [FORD

OEMNO

EOTZ3A131C




7
O ENaRAOT

TEKNOROT REF.: FO-1182
Steering Tie Rod End

Weight: 07681  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

BRONCO 1980-1996  Front Left Outer

TEKNOROT REF. FO-1182
Steering Tie Rod End RWD

Weight: 0781  Length: 140  Bolt Metric. M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

E-350 1980-1997  Front Left Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Campaign

ADAPTABLEFOR FORD

OEMNO

EOTZ3A1310

ADAPTABLEFOR [FORD

OEMNO

EOTZ3A131D



5 TXNOROT

&=
QW sreenine o susrension ranrs mpaign

TEKNOROT REF. FO-1182 ADAPTABLEFOR FOR[
Steering Tie Rod End

Weight: 07681  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-100 1980-1983  Front Left Outer EOTZ3A131D
TEKNOROT REF. FO-1182 ADAPTABLEFOR (R[]
Steering Tie Rod End RWD

Weight: 0781  Length: 140  Bolt Metric. M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-150 1980-1996 Front Left Outer EOTZ3A131D

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF.: FO-1182
Steering Tie Rod End RWD

Weight: 07681  Length: 140  Bolt Metric: M14X1,5  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

F-250 1980-1997  Front Left Outer

TEKNOROT REF: FO-1182
Steering Tie Rod End RWD. USA TYPE

Weight: 0,781  Length: 140  Bolt Metric: M14X15  Housing Metric: M22X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

RANGER 1983-1997  Front Left Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

EOTZ3A1310

ADAPTABLEFOR [FORD

OEMNO

EOTZ3A131D




\'lE(NDRDT
x.) B s

TEKNOROT REF: FO-1234 ADAPTABLEFOR FOR[
Suspension Ball Joint ONLY 16/
YEAR ONLY
2003-2008
adé
5%
Weight: 0,488  Length: 923
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
1448487* 1209246%, 1448485%
HA RB 18996-2008 Front Lower 1009245+
TEKNOROT REF: FO-1270 woAPTELEFR FORD
Suspension Stabilizer Bar Link
Weight: 0322  Length: 2335  Bolt Metric. 3/6-16UNF
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
MUSTANG 3rd Gen 1979-1993 Front DBBZ5A486A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-1288 ADAPTABLEFCR FORD

Suspension Control Arm and PWD
Ball Joint Assembly

Weight: 10282  Length: 470  Bolt Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEM NO
EXPEDITION 15t Gen 1997-2003 Fr ‘Z’; IWRZ% nt 6L.373078E
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
T
6 FO-1050 Ball Joint Front F577305088, F5TZ30784, F5TZ30794
\_ '
TEKNOROT REF: FO-1288 \oAPTABLEFOR FORD
Suspension Control Arm and : ' =N '

Ball Joint Assembly

Weight: 10282  Length. 470  Bolt Metric: M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
3 . Front Right
F-150 10th Gen 1897-2003 Lower 6L.373078F
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
.
‘ FO-1050 Ball Joint Front F5773050BB, F5TZ3078A, F5TZ3075A

W

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF. FO-1289 ADAPTABLEFCR FORD

Suspension Control Arm and PWD
Ball Joint Assembly

Weight: 10282  Length: 470  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
EXPEDITION 1stGen 1997-2003  Front Left Lower 6L373079F
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
i
‘ FO-1050 Ball Joint Front F57730508B, F5TZ3078A, F5TZ3079A
\_ P
TEKNOROT REF: FO-1289 ADATABLEFOR FOL)
Suspension Control Arm and : ' =N '

Ball Joint Assembly

Weight: 10282  Length. 470  Bolt Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
F-150 10th Gen 1997-2003  Front Left Lower 6L373079E
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
ra
‘ FO-1050 Ball Joint Front F577305088B, F5TZ3078A, F5TZ3079A

W

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

&=
‘\) STEERING E SUSPENSION PARTS mpalgn

TEKNOROT REF. FO-1322 ADAPTABLEFOR FORD
Steering Tie Rod End 4AWD

Weight: 1351 Length. 205  Bolt Metric: M14X15  Housing Metric: 16G 1" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

EXCURSION 2000-2005  Front Left Inner ACS373304N
TEKNOROT REF: FO-1322 AOAPTABLEFOR FOR)
Steering Tie Rod End 4AWD :

Weight: 1351 Length: 205  Bolt Metric. M14X15  Housing Metric: 16G 1" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-250 SUPER DUTY 1st Gen 1999-2007  Front Left Inner AC373304N

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT .

TEKNOROT REF. FO-1322 ADAPTABLEFOR FOR[
Steering Tie Rod End 4AWD

Weight: 1351 Length. 205  Bolt Metric: M14X15  Housing Metric: 16G 1" UNF

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
F-350 SUPER DUTY 1st Gen 1899-2007  Front Left Inner AC3Z3304N
TEKNOROT REF: FO-1358 ADAPTABLEFOR R
Suspension Control Arm

Weight: 346  Length: 478

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
TAURUS 4th Gen 2000-2007 Fr CZ’; ;/Rgf ht 3F173078AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt oo

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. FO-1358 ADAPTABLEFOR MERCURY
Suspension Control Arm

Weight: 346  Length: 478

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Right
SABLE 1998-2005 Lower 3F1Z3078AA
TEKNOROT REF: FO-1359 ADATABLEFOR FOL)
Suspension Control Arm

Weight: 346  Length: 478

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TAURUS 4th Gen 2000-2007  Front Left Lower 3F173079AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

&=
‘\) STEERING E SUSPENSION PARTS mpalgn

TEKNOROT REF: FO-13589 ADAPTABLEFOR MERCURY
Suspension Control Arm

Weight: 346  Length: 478

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
SABLE 1998-2005  Front Left Lower 3F173079AA
TEKNOROT REF: H-1001 woaPTEEFoR HONDA
Steering Tie Rod End

.

Weight: 0456  Length. 169  Bolt Metric: M10OX1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

JAZZ v 2015- Front Right 53540T5A003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

®TE
W s 7ccrine o susrension sanrs ampaign

TEKNOROT REF. H-1002 ADAPTABLEFOR HONDA
Steering Tie Rod End

£

Weight: 0456  Length: 169  Bolt Metric: M10X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
JAZZ v 2015- Front Left 5356075A003
TEKNOROT REF: H-1003 ADAPTABLEFOR HONDA
Steering Tie Rod

Weight: 075  Length: 3165  Bolt Metric: M14X1,5  Housing Metric: M20X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RIDGELINE 2006-2014 Front 530105JCAD1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



7
O ENaRAOT

TEKNOROT REF: H-1004
Suspension Ball Joint

Weight: 0247  Length: 845  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR
JAZZ v 2015-
TEKNOROT REF: H-1017
Suspension Stabilizer Bar Link
> -2
=
Weight: 0222  Length: 80  Bolt Metric: M10X1,25
MODEL NO BODY CODE YEAR
TSX 1stGen, CL9 2004-2008

DIRECTIONS

Front Lower

DIRECTIONS

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

Campaign

ADAPTABLEFOR HONDA

OEMNO

51350T5AJ01% 51360T5AJ01*

ADAPTABLEFOR ACUIRA

OEMNO

51325TADAD1



TeNOROT

A4
\;STFEPJNGGS{JSDFNSfON PARTS !

TEKNOROT REF: H-1017 ADAPTABLEFOR ACLIRA
Suspension Stabilizer Bar Link

=

Weight: 0222  Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TSX 2nd Gen CU2 2009-2014 Front Left 51325TADAO]
TEKNOROT REF. H-1017 ADAPTABLEFOR HONDA
Suspension Stabilizer Bar Link Usa Market

=

Weight: 0222  Length: 80  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ACCORD Vill 2008-2012 Front Left 51325TADAD1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘a g! EF Y 5!!95 9 :’: I ew Iltemms Sales Campaign
TEKNOROT REF. H-1017 L s HONA

Suspension Stabilizer Bar Link

Weight: 0222  Length: 80  Bolt Metric: M10X1,25

CROSSTOUR 2010-2015 Front Left 51325TADACI

TEKNOROT REF: H-158

Suspension Control Arm and
Ball Joint Assembly

Weight: 6946  Length: 3648  Bolt Metric: M12X1,25

Front Right
Lower

ODYSSEY 2nd Gen 1998-2004 5135050XA02

‘ H-154 Ball Joint Front Lower 5136050XA02%, 51535050XA02*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 89




{5 T&NOROT i

TEKNOROT REF: H-159 ADAPTABLEFOR HONDA

Suspension Control Arm and
Ball Joint Assembly

Weight: 6,946  Length: 3648  Bolt Metric. M12X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
ODYSSEY 2nd Gen 1998-2004  Front Left Lower 5136050XA02
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
o3
“ H-154 Ball Joint Front Lower 5136050XA02% 5135050XA02*
TEKNOROT REF: H-176 ADAPTABLEFOR. HONDA

Suspension Stabilizer Bar Link

Weight: 0225 Length: 92  Bolt Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

52000 1999-2009 Rear 5232052A003

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT i

TEKNOROT REF: HY-1001 aospaeLeFoR HYUNDA/
Steering Tie Rod End

Weight: 038 Length: 03868  Bolt Metric.: M10*1,25  Housing Metric: M14*1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CRETA 1stGen 2015- Front Right 56825M0000
TEKNOROT REF: HY-1001 ADAPTABLEFOR HYUNDA/
Steering Tie Rod End

Weight: 0,38 Length: 0,388  Bolt Metric. M10*125  Housing Metric: M14*15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

x25 Ist Gen 2015- Front Right 56625M0O000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&NOROT i

TEKNOROT REF: HY-1002 ADAPTABLEFOR HYUINDA!
Steering Tie Rod End

Weight: 038 Length: 03868  Bolt Metric.: M10*1,25  Housing Metric: M14*1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
CRETA 1stGen 2015- Front Left 56820M0000
TEKNOROT REF: HY-1002 ADAPTABLEFOR HYUNDA/
Steering Tie Rod End

Weight: 0,38 Length: 0,388  Bolt Metric. M10*125  Housing Metric: M14*15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

x25 1stGen 2015- Front Left 56820M0000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&XNOROT

TEKNOROT REF: HY-1003 ADAPTABLEFOR HYUNDA/
Steering Tie Rod

- ———

®)

Weight: 0651 Length: 3515  Bolt Metric. M14X1,5  Housing Metric: M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
CRETA 1stGen 2015- Front 5654009100
TEKNOROT REF: HY-1003 ADAPTABLEFOR HYUNDA/
Steering Tie Rod

- ———

®)

Weight: 0651 Length: 3515  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

x25 1stGen 2015- Front 56540C9100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: HY-10081

Suspension Control Arm and
Ball Joint Assembly

Weight: 6297  Length: 351  Bolt Metric. M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
. Front Right
STAREX H1 1996-2007 Upper
COMPONENTS NUMBER NAME DIRECTIONS
=y
‘ MI-206 Ball Joint Front Upper
TEKNOROT REF: HY-10091
Suspension Control Arm and
Ball Joint Assembly
Weight: 6297  Length: 351  Bolt Metric: M16X15
MODEL NO BODY CODE YEAR DIRECTIONS
STAREX H1 1996-2007  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
=y
‘ MI-206 Ball Joint Front Upper

e

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR HYUNDA/

OEMNO

5440147000, 544014A000,
544014A600

OEMNO

544174AA00, MB527350, MR241623

ADAPTABLEFOR HYUNDA/

OEMNO

5440047000, 544004A000,
544004A600

OEMNO

544174AA00, MB527350, MR241623



=
o ENORaT

TEKNOROT REF: HY-528

Suspension Control Arm And
Ball Joint Assembly

Weight: 386
MODEL NO BODY CODE
COUPE GK
COMPONENTS NUMBER

-

6 HY-525

TEKNOROT REF: HY-529

Suspension Control Arm And
Ball Joint Assembly

Weight: 3,86
MODEL NO BODY CODE
COUPE GK
COMPONENTS NUMBER

-~
6 HY-525

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

2002-2009

DIRECTIONS

Front Lower

DIRECTIONS

2002-2009

DIRECTIONS

Front Lower

os Campaion

ADAPTABLEFOR HYUNDA/

OEMNO

5450120000

OEMNO

5450120000, 5450338A00*

ADAPTABLEFOR HYUNDA/

OEMNO

5450020000

OEMNO

54501200007, 5450338A00*



N TNOROT

A\ STEERING 6 SUSPENSION PARTS ampaign

TEKNOROT REF: HY-663 ADAPTABLEFOR HYUNDA/
Steering Tie Rod

e ——

Weight: 0891 Length: 3995  Bolt Metric: M16X15  Housing Metric: M168X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
H350 2016- Front 5687159000
TEKNOROT REF: 1-104K AOATABLEFOR [SUIZL)
Suspension Ball Joint with accessories
———-‘a’ —

8858

Weight: 0832  Length: 557  Bolt Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

O-MAX 4X2 2002-2006 Front 8972357770, 8960058270

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




(s TENOROT

TEKNOROT REF: [-311 ADAPTABLEFOR [SLJZL/
Steering Tie Rod End

___,-ﬁ d

Weight: 051 Length: 86  Bolt Metric: M16*1,56  Housing Metric: M20*1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
ELF 1992- Front Right 8971073482
TEKNOROT REF: I-311 ADAPTABLEFOR ISUZU
Steering Tie Rod End

___,-ﬁ d

Weight: 051 Length: 86  Bolt Metric: M16*15  Housing Metric: M20*1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

N-SERIES 1992- Front Right 8971073482

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TENOROT

TEKNOROT REF. I-312 ADAPTABLEFOR [SLJZL/
Steering Tie Rod End

Weight: 051 Length: 86  Bolt Metric: M16*1,56  Housing Metric: M20*1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
ELF 1992- Front Left 8971073492
TEKNOROT REF: [-312 ADAPTABLEFOR ISUZU
Steering Tie Rod End

Weight: 051 Length: 86  Bolt Metric: M16*15  Housing Metric: M20*1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

N-SERIES 1992- Front Left 8971073492

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt oo

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: JA-1001 ADAPTABLEFOR JAGLIAR
Steering Tie Rod End

Weight: 1158  Length. 201  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
XE X760 2015- Front Right Outer T2HB305
TEKNOROT REF: JA-1002 ADAPTABLEFOR JAGUAR
Steering Tie Rod End

Weight: 1158  Length: 201  Bolt Metric: M14X2  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XE X760 2015- Front Left Outer T2HB306

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



AT
R} ST FW#NQEONDD I I

TEKNOROT REF: JA-128 ADAPTABLEFOR _JAGUAR
S‘uspeys/bn Control Arm and Aluminium type
Ball Joint Assembly
o
@
-
Weight: 1126  Length: 268,5
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Right
XE X760 2015 Upper T2H3192
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
Control Arm " "
¥ SB 1311 Bushing Front Upper T2H3193% T2H3192
TEKNOROT REF: JA-128 ADAPTABLEFOR JAGUAR
Suspeqslbn Control Arm and Aluminium type
Ball Joint Assembly
[o
@
-
Weight: 1126  Length. 2685
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Right
XF X260 2016 Upper T2H3192
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Control Arm . .
P SB 1311 Bushing Front Upper T2H3193% T2H3192

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: KI-2590

Steering Center Link

Weight: 2424 Length: 7655  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS

SPORTAGE NB7 1993-2004 Front
TEKNOROT REF: KI-56981
Suspension Control Arm and
Ba//{ylommssemb/ YEARONLY

4 2006-2012

Weight: 7129  Length. 209  Bolt Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

. Front Right
BONGO 2006 Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR KA

OEMNO

KO11532260A

ADAPTABLEFOR KA

OEMNO

54420-4E001, 54420-4E200



~\ TXNOROT

®TE B
\‘ STEERING 6 SUSPENSION PARTS ampalgn

TEKNOROT REF: KI-56991 ADAPTABLEFOR K(JA
Suspension Control Arm and VEAR ONLY

Ball Joint Assembly 2006-2012 m

el

Weight: 7129  Length: 209  Bolt Metric: M18X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
BONGO 2006- Front Left Upper 54410-4E001, 54410-4E200
TEKNOROT REF: KI-603 Wi ),

Steering Tie Rod

Weight: 0445  Length: 1694  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CERATO Znd Gen 2011-2013 Front 577241M0O00

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: KI-614
Suspens/an Ball Joint

Weight: 0612  Length: 878  Bolt Metric: M16X1,5

BONGO 2006- Front Lower 545404E000%, 545414E000%

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 103




-
{5 TXNOROT

TEKNOROT REF: KI-621
Steering Tie Rod

LU fi 4 Wi
A T TP PT TP

Weight: 0181 Length. 100  Bolt Metric. M18X1,5

MODEL NO BODY CODE
RETONA
COMPONENTS NUMBER
— KI-601
&
) KI-611
— KI-602
&= K612

ADAPTABLEFOR KA

YEAR DIRECTIONS
1593-2004 Front
NAME DIRECTIONS
SIEBWE% ;‘/e Rod Front Right Inner
SIBBWE% ;‘/e Rod Front Right Outer
Steering Tie Rod Front Left Inner
End
Steering Tie Rod Front Left Outer
End

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

OKO1132270A%, OKO1132290A*

OEMNO

OKO11532290A"

OKO1132290A%

OKO1132270A%

OKO1132270A%



(; TXNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: KI-621
Stee_r/hg Tie Rod

Weight: 0181 Length. 100  Bolt Metric. M18X1,5

I ew ltems Sales Campaign

YEAR ONLY
1998-2004

SPORTAGE NB7 1993-2004 Front OKO1132270A OKO1132290A*
q wesor | SO TEROT oot pignt ner OKO11322904*
- ke | OO RO ot pignt quter OKO11322904
‘-q wreoz | SO TEROT | ot et ner OKO1132270A*
- wrerz | SO TEROT | ottt outer OKO1132270A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com

105




-
{5 TXNOROT

TEKNOROT REF: HI-628

Suspension Control Arm and
Ball Joint Assembly

Weight: 3,74

Length.: 3492
MODEL NO BODY CODE
PICANTO (BA]
COMPONENTS NUMBER
-
é HY-525
SB642

TEKNOROT REF: HI-629

Suspension Control Arm and
Ball Joint Assembly

Weight: 374  Length: 3492
MODEL NO BODY CODE
PICANTO (BA)
COMPONENTS NUMBER
-
é HY-525
SB642

Bolt Metric: M12X1,25

Bolt Metric: M12X1,25

YEAR ONLY
2008-2011
YEAR DIRECTIONS
2004-2011 Front Right
Lower
NAME DIRECTIONS
Ball Joint Front Lower
Control Arm Lower
Bushing
YEAR ONLY
2008-2011
YEAR DIRECTIONS
2004-2011 Front Left Lower
NAME DIRECTIONS
Ball Joint Front Lower
Control Arm L ower
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

mpaion

ADAPTABLEFOR KA

OEMNO

5450107361

OEMNO

54501200007, 5450338A00*

5458407000

ADAPTABLEFOR KA

OEMNO

5450007361

OEMNO

54501200007, 5450358A00*

5458407000



‘a g! EF Y 5!!95 9 :’: I ew Iltemms Sales Campaign
TEKNOROT REF: L-508 B— R

Suspension Control Arm and
Ball Joint Assembly

Weight: 3794  Length: 371  Bolt Metric. M12X1,5

VESTA 2015- Front Left 8450006732

‘ L-504 Ball Joint Front Right 8450006732*
Lower

TEKNOROT REF: L-509

Suspension Control Arm and
Ball Joint Assembly

Weight: 3794  Length: 371  Bolt Metric. M12X1,5

VESTA 2015- Front Right 8450006733

. L-505 Ball Joint Front Left Lower 8450006733*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 107




AT
R} ST FW#NQEONDD I I

TEKNOROT KEF. LA-288 ADAPTABLEFOR [ AND ROVER
Suspension Control Arm and without pneumatic

Ball Joint Assembly suspension

Weight: 10,7681  Length: 411  Bolt Metric: M16X2

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
DISCOVERY I TAA o004-2009  TONERON LRO75994
Lower
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
‘ LA-134 Ball Joint Front Lower | RBK500040, RBK500180, LRO28249*
TEKNOROT REF: LA-289 ADAPTABLEFOR [ AND ROVER
Suspension Control Arm and without pneumatic

Ball Joint Assembly suspension

Weight: 10781  Length. 411  Bolt Metric.: M16X2

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

DISCOVERY Il TAA 2004-2009  Front Left Lower LRO75996

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ LA-134 Ball Joint Front Lower RBK500040, RBK500180. LRO28249*

-

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT KEF. LA-298

ADAPTABLEFOR | AN ROVER
Lateral Arm ™ :

I

=

Weight: 10042  Length. 548

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
RANGE ROVER SPORT I L320 2005-2013  Rear Right Lower LRO19977

TEKNOROT REF: LA-299 ADAPTABLEFOR | AND ROVER

Lateral Arm

Weight: 10042  Length. 548

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RANGE ROVER SPORT | L5320 2005-2013  Rear Left Lower LRO19978

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: LN-311 ADAPTABLEFOR [ INCOLN
Steering Tie Rod End

Weight: 0598  Length: 123  Bolt Metric: M14X1,5  Housing Metric. M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
AVIATOR 2002-2005  Front Outer 20573413044
TEKNOROT REF: M-1003 ADAPTABLEFCREMIERCEDES
Steering Tie Rod RWD

Weight: 0713  Length: 2961  Bolt Metric. M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

S5-CLASS W222 V222 X222 2014- Front 2223307100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS ampalgn

TEKNOROT REF: M-10082 ADAPTABLEFOR MERCEDES

Suspension Control Arm and with air suspension
Ball Joint Assembly

TN oy

Weight: 2654  Length: 4465  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. . Front Right
C-CLASS W205 4x4 2013 | ower Forward 2053301805
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
".J SB1098 COE;W olArm | Front Lower 2053302005% 2053301905*
ushing Forward
TEKNOROT REF: M-10082 ADAPTABLEFOR MERCEDES
Suspeqs/bn Control Arm and with air suspension
Ball Joint Assembly

x @ o S |

Weight: 2654 Length: 4465  Bolt Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
GLC-CLASS X2530253 2016- LD@ o ng ggr ; 2053301605
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
a2 | S8 1098 Gonirol | Front Lower 2053302005 2053301905
Bushing Forward '

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS ampalgn

TEKNOROT REF: M-10092 ADAPTABLEFOR MERCEDES

Suspension Control Arm and with air suspension
Ball Joint Assembly

o

Weight: 2654  Length: 4465  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
C-CLASS W205 4x4 2013- Forward 2053301705
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
".J SB1098 COE;W olArm | Front Lower 2053302005% 2053301905*
ushing Forward
TEKNOROT REF: M-10092 ADAPTABLEFOR MERCEDES
Suspeqs/bn Control Arm and with air suspension
Ball Joint Assembly

Weight: 2654 Length: 4465  Bolt Metric: M16X1,5

MODEL NO BODYCODE — YEAR  DIRECTIONS OEMNO
Front Left Lower
GLO-CLASS X253,0253 2016- e 2053301705
COMPONENTS NUMBER NAME — DIRECTIONS OEMNO
5 spiogs | CgUrAT | Tow | 2083302005* 2053301905¢

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

A4
\;STFEPJNGGS{JSDFNSfON PARTS !

TEKNOROT REF: M-1013 ADAPTABLEFOR MIERCEDES
Steering Tie Rod

Weight: 0636  Length: 2392  Bolt Metric: 14X1,5  Housing Metric. M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO

X-CLASS w470 2017- Front 4704604800
TEKNOROT REF: M-233 ADAPTABLEFCREMIERCEDES
Steering Tie Rod 4X4 Al

Weight: 0619  Length: 209  Bolt Metric: M14*15  Housing Metric: M16%1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

E-CLASS WZ210 1995-2003 Front 2103581115

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘a i 1, = E ,dgﬁ H :’: ew ltems Sales Campaign
TEKNOROT REF: M-248  cwwacos MERCEDES

Suspension Control Arm and 4matic
Ball Joint Assembly

Weight: 2755  Length: 450  Bolt Metric: M14X1,5

Front Right

CLS-CLASS C218 2011-2017 | ower Forward 2123303211
Control Arm
561138 ) Front Lower 2183301211* 2183301111*
Bushing

TEKNOROT REF: M-248 C semeseon MERCEDES

Suspension Control Arm and 4matic
Ball Joint Assembly

Weight: 2755  Length: 450  Bolt Metric: M14X15

Front Right
Lower Forward

E-CLASS w212 2009-2016 2123303211

SB 1138 Lontrol Arm Front Lower 2183301211* 2183301111*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 114




‘a i 1, = E ,dgﬁ H :’: ew ltems Sales Campaign
TEKNOROT REF: M-249  cwwacos MERCEDES

Suspension Control Arm and 4matic
Ball Joint Assembly

e
& - .

Weight: 2755  Length: 450  Bolt Metric: M14X1,5

Front Left Lower

CLS-CLASS C218 2011-2017 Forward 2123303111
Control Arm
561138 ) Front Lower 2183301211* 2183301111*
Bushing

TEKNOROT REF: M-249 C semeseon MERCEDES

Suspension Control Arm and 4matic
Ball Joint Assembly

- .
2

& - .

Weight: 2755  Length: 450  Bolt Metric: M14X15

Front Left Lower
E-CLASS w212 2009-2016 Forward 21235303111

SB 1138 Lontrol Arm Front Lower 2183301211* 2183301111*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 115




{5 T&’\NOROT

TEKNOROT REF: M-551 ADAPTABLEFOR MIERCEDES
Steering Tie Rod End

S

Weight: 0598  Length: 858  Bolt Metric.: M16X1,5  Housing Metric: M22X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
G-CLASS 1997-2018 Front Outer 4633300703
TEKNOROT REF. M-964 ADAPTABLE FOR MIERCEDES

Lateral Arm

Weight: 0868  Length: 394,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: : Rear Right Upper
S5-CLASS W222 V222 X222 2014 Forward 2223500292

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENoROT

TEKNOROT REF: M-965
Lateral ,_4rm

Weight: 0868  Length: 394,5

Rear Left Upper
Forward

S5-CLASS W222 V222 X222 2014- 2223500192

TEKNOROT REF: M-968  weemsern MERCEDES

Suspension Control Arm and 4matic
Ball Joint Assembly

Weight: 3071  Length: 469  Bolt Metric: M16X15

Front Right
Lower

S5-CLASS W222 V222 X222 2014- 2173805200

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 117




[ =
{» T&XNOROT

TEKNOROT REF: M-969

Suspension Control Arm and
Ball Joint Assembly

©

Weight: 3071  Length: 469  Bolt Metric. M16X15
MODEL NO BOODY CODE YEAR
S-CLASS W222 /222 X222 2014-
TEKNOROT REF: MA-3980
Lateral Arm
Weight: 3074  Length: 576
MODEL NO BODY CODE YEAR
3 BM
COMPONENTS NUMBER NAME
. 961065 Com‘m/'Arm
Bushing
951054 Com‘m/'Arm
Bushing

4matic

ADAPTABLEFOR MERGCEDES

DIRECTIONS

Front Left Lower

OEMNO

2173505100

ADAPTABLEFOR MIAZ A

DIRECTIONS

2014-2019  Rear Right Lower

DIRECTIONS

Front Lower

Front Outer

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

B45A2685000

OEMNO

54501C06000% 54500C8000*

54501A2600%, 54500A2600*



{5 T&NOROT i

TEKNOROT REF: MA-3981 ADAPTABLEFOR MIAZA
Lateral Arm

Weight: 3074  Length: 576

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
3 BM 2014-2019  Rear Left Lower B45A28350C
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
. SB 1065 Control Amn Front Lower 54501C8000* 54500C8000*
Bushing
SB 1054 Control Amn Front Outer 54501A2600* 5450042600
Bushing
TEKNOROT REF: MA-874 ADAPTABLEFOR MAZA
Suspension Ball Joint

o

—

Weight: 0341 Length: 76

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MPV neLw) 1999-2006 Rear Lower LOB234300C7, LCE2343500*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

TEKNOROT REF: MA-881 ADAPTABLEFOR MIAZ A
Steering Tie Rod End

4
F
£

-
-

Weight: 0645 Length: 181  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
2 DJ 2014- Front Right DABT32280
TEKNOROT REF: MA-882 ADAPTABLEFOR MIAZ A
Steering Tie Rod End

-
g —

Weight: 0645  Length: 181  Bolt Metric: M12X1,25  Housing Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

2 oJ 2014- Front Left DABT32250

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: MA-888

Suspension Control Arm and
Ball Joint Assembly

Weight: 4891  Length: 3855  Bolt Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS
3 . Front Right
MX-5 II'CNB ] 1998-2005 L ower
COMPONENTS NUMBER NAME DIRECTIONS

& MA-305 Ball Joint Front

TEKNOROT REF: MA-889

Suspension Control Arm and
Ball Joint Assembly

Weight: 4891  Length: 3655  Bolt Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS
MX-5 Il (NB] 1998-2005  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS

& MA-305 Ball Joint Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIAZ A

OEMNO

NO6634510

OEMNO

NAO134550

ADAPTABLEFOR MIAZ A

OEMNO

NOB6534360

OEMNO

NAO134550



AT
k} ST FW#NQEONDD I

TEKNOROT REF: MI-307 ADAPTABLEFOR MIITSUBISH/
Suspension Control Arm and
Ball Joint Assembly
im
Weight: 2,212
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Lower
ECLIPSE 26 1995-1999 Forward MR2962395
TEKNOROT REF: MI-308 ADAPTABLEFOR MIITSUB/SH/
Suspension Control Arm and
Ball Joint Assembly
Weight: 3872
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: Front Right
ECLIPSE 26 1995-1999 | ool MR296320

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: MI-309 ADAPTABLEFOR MIITSUBISH/

Suspension Control Arm and
Ball Joint Assembly

Weight: 3872
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

A TXNOROT

k STEERING 6§ SUSPENSION PARTS

Front Left Lower
ECLIPSE 26 18995-1999 Pearward MR298319

TEKNOROT REF: MI-658 ADAPTABLEFOR MIITSUBISH/

Suspension Control Arm and
Ball Joint Assembly

Weight: 4186  Length: 367  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
COLT v 1996-2002 - MR241342
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
6 MI-774 Ball Joint Front Lower MR241341* MR241342*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

A4
\;STFEPJNGGS{JSDFNSfON PARTS !

TEKNOROT REF: MI-659 ADAPTABLEFOR MIITSUBISH/

Suspension Control Arm and
Ball Joint Assembly

-

Weight: 4188  Length: 367  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COoLT % 1996-2002  Front Left Lower MR241341

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
N Ball Joint Front Lower MR241341% MR241342*

’ MI-774

TEKNOROT REF: MI-7282 ADAPTABLEFOR MI{TSUB/ISH/
Lateral Arm

m—

Weight: 0748  Length. 258

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CARISMA 2000-2006  Rear Right Upper MR130480

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: MI-72892
Lateral Arm

H

Weight: 0,748  Length: 258

MODEL NO BODY CODE

CARISMA

TEKNOROT REF: MI-733
Steering Tie Rod

O e ——— -

Weight: 0552  Length: 334
MODEL NO BODY CODE
ECLIPSE 46

YEAR

2000-2006

Bolt Metric. M15X1,5  Housing Metric: M14X1,5

YEAR

2006-2011

ADAPTABLEFOR MIITSLIBISH/

DIRECTIONS

Rear Left Upper

DIRECTIONS

Front Inner

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

MR150479

ADAPTABLEFOR MIITSLIBISH/

44224044



TEKNOROT REF: MI-774 ADAPTABLEFOR MIITSLIBISH/
Suspension Ball Joint

-,

=

¥l

Weight: 036  Length: 036  Bolt Metric. M12*1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
coLT % 1996-2002 Front Lower MR241341% MR241342*
TEKNOROT REF: MI-774 ADAPTABLEFOR MIITSUBISH/
Suspension Ball Joint
-,

=

¥l

Weight: 036  Length: 0.36  Bolt Metric: M12*1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

LANCER Vi 19596-2001 Front Lower MR241341%, MR241342%

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
O ENORoT veign

TEKNOROT REF: MN-148K
Suspension Control Arm Kit

¢

Weight: 4,23
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
COUNTRYMAN (RE0) 2010-2014 Front Right 31129806520
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
r SB1074 CONMTOIAIMY | o Pl Outer 31129803498
Bushisng
TEKNOROT REF: MN-1439K
Suspernsion Control Arm Kit
Weight: 4,23
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
COUNTRYMAN (RE0) 2010-2014 Front Left 31129806519
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
m’ SB1075 CONIOIATN | oot ) eft Quter 31129803497
Bushisng

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



S TSXNOROT

Cx oo
QW srecnine o suseension pante 65 Campaign

TEKNOROT REF: N-248 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 4974  Length: 420

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
TEANA 31 2003-2008 Lower 545009W20C
TEKNOROT REF: N-249 ADAPTABLEFOR NISSAN
Suspension Control Arm and
Ball Joint Assembly

Weight: 4974  Length: 420
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TEANA 151 2003-2008  Front Left Lower 545019W200

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/T
o ENORaT Campeian

TEKNOROT REF: N-278 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 5895  Length. 421

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
QUEST thGenv42 20042009 7 ‘Z’; rwggg?m 54500CK000
TEKNOROT REF: N-279 ADAPTABLEFOR NISSAN
Suspension Control Arm and
Ball Joint Assembly

Weight: 5895  Length: 421
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

OUEST 3th Gen, V42 2004-2009  Front Left Lower 54501CK000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

A4
\;STFEPJNGGS{JSDFNSfON PARTS !

TEKNOROT REF: N-323 ADAPTABLEFOR NISSAN
Steering Tie Rod Only HB version

-M

Weight: 0437  Length: 2754  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO

PRIMERA [P12) 2002-2008 Front 48521AU000
TEKNOROT REF: N-733 ADAPTABLEFOR NISSAN
Steering Tie Rod only TING version .

-——&

Weight: 0593  Length: 3108  Bolt Metric: M14X15  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ALMERA [NIE) 2000-2006 Front 4852140000, 4852140085

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: N-743 ADAPTABLEFOR NISSAN

Steering Tie Rod for 2.0L Engine E

e e

Weight: 046  Length: 27568  Bolt Metric: M14X15  Housing Metric. M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS ODEMNO
ALMERA (NI5) 1995-2000 Front 4852165F01, 4852165F25
TEKNOROT REF: N-763 ADAPTABLEFOR NISSAN

Steering Tie Rod for power steering E

H

Weight: 042  Length: 2752  Bolt Metric: M12X1,25  Housing Metric: M16X1

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ALMERA [NI5) 1995-2000 Front 485211IM210

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e ENoOEOT Campaign
TEKNOROT REF. O-453 ADAPTABLEFOR (JPEL

Steering Tie Rod TRW steering reduced
rack travel

-M

Weight: 057  Length: 284  Bolt Metric: M14X15  Housing Metric. M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ASTRA (G) 1998-2004 Front 1603003, 1603644
TEKNOROT REF: O-473K ADAPTABLEFOR FIAT
Steering Tie Rod Hit

- e

Weight: 0664  Length.: 2856

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CHROMA (154) 2005-2011 Front 1603415, 1603229, 93172256
190MULTUET ' '

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: O-473K ADAPTABLEFOR (JPEL
Steering Tie Rod Hit

- e

O 8 5 & (H.,,/

Weight: 0664  Length: 2856

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
SIGNUM 2003-2008 Front 1603415, 1603229, 93172256
TEKNOROT REF: O-473K ADAPTABLEFOR (JIPEL
Steering Tie Rod Hit

- e

O 8 5 & (H.,,/

Weight: 0664  Length: 2856

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

VECTRA (cJ 2002-2008 Front 1603415, 1603229, 95172256

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: P-463K ADAPTABLEFOR Gf TROEN
Steering Tie Rod Kit

bl =
= A

&

Weight: 0625  Length: 1051  Bolt Metric: M14X1,5 — Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
c5 RC 2004-2008 Front 381783
TEKNOROT REF: P-463K ADAPTABLEFOR i TROEN
Steering Tie Rod Hit

bl =
= A

&

Weight: 0625  Length: 1051  Bolt Metric: M14X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

c6 2005-2012 Front 381763

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: P-463K ADAPTABLEFOR PEUGEOT
Steering Tie Rod Kit

bl =
= A

v

Weight: 0625  Length: 1051  Bolt Metric: M14X1,5 — Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS ODEMNO
407 2004-2011 Front 381783
TEKNOROT REF. PO-437 ADAPTABLEFOR PORSCHE

Suspension Stabilizer Bar Link

Weight: 0422  Length: 260  Bolt Metric: M12x1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

911 991 2012-2019 Front Left 991534306902

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



S TSXNOROT

Cx oo
QW srecnine o suseension pante 65 Campaign

TEKNOROT REF: PO-446 ADAPTABLEFOR PORSCHE
Suspension Stabilizer Bar Link

r &

Weight: 0287  Length: 265  Bolt Metric: M10X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
99634307303, 99634307304,
911 996 1997-2005 Front 99634307305

TEKNOROT REF: PO-516 ADAPTABLEFOR PORSCHE
Suspension Stabilizer Bar Link

Weight: 0384  Length: 234  Bolt Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

911 991 2012-2019 Rear 99133507102

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF. R-533KM

Steering Tie Rod Kit only for RX4, SMI steering
m / With accessories
e — '_—;“—E-_-—_T.ﬂ

Weight: 0617  Length: 3282  Bolt Metric: M14X1,5  Housing Metric: M12X15

MODEL NO BODY CODE YEAR

SCENIC / 1997-2002 Front

TEKNOROT REF. SM-151
Steering Tie Rod End
L)
Weight: 0,202
MODEL NO BODY CODE YEAR DIRECTIONS
FORTWO 450 2004-2006  Front Right Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

ADAPTABLEFOR RENAUL T

OEMNO

7701473443

ADAPTABLEFOR SMIART

OEMNO

48870060000



S =
o ENORaT

TEKNOROT REF: SU-621
Steering Tie Rod End

A
Weight: 0529  Length: 136
MODEL NO BOODY CODE
BRZ 1st Gen

TEKNOROT REF: SU-622

Steering Tie Rod End
Weight: 0529  Length: 138
MODEL NO BODY CODE
BRZ 1stGen

YEAR

2012-

YEAR

2012-

ADAPTABLE FOR SUBA RU

DIRECTIONS

Front Right Right

OEMNO

34161CA000

ADAPTABLE FOR SUBA R

DIRECTIONS

Front Right Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

34161CA010



5 TXNOROT

®TE
W s 7ccrine o susrension sanrs ampaign

TEKNOROT KEF. SU-623 ADAPTABLE FOR .S‘UBA/?U
Steering Tie Rod T RIS LR TSR

Weight: 0476  Length: 2265  Bolt Metric: M14*1,5  Housing Metric: M16*1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
BRz 1st Gen 2012- Front 34160CA000
TEKNOROT REF: SU-623 ADAPTABLEFOR TOYOTA
Steering Tie Rod

Weight: 0476  Length: 2265  Bolt Metric: M14*15  Housing Metric. M16%1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

G786 2012- Front 34160CA000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&KNOROT -

TEKNOROT REF: T-1013 ADAPTABLEFOR TOYOTA
Steering Tie Rod Power Steering

Weight: 06  Length: 3302

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO

COROLLA E100 Euro Made 1892-1397 Front 4550319205
TEKNOROT REF: T-1024 ADAPTABLEFOR TOYOTA
Suspension Ball Joint BASE MODEL PRE- |

RUNNER TYPE
Weight: 065 Length: 1049  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TACOMA 2nd Gen 2005-2015 Front Lower 4806804040*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Compaion

/A TECNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. T-1028 ADAPTABLEFOR JTOYOTA
Suspension Control Arm and BASE MODEL, PRE- i
Ball Joint Assembly RUNNER TYPE

Weight: 7044  Length: 4465  Bolt Metric: M16X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
TACOMA 2nd Gen 2005-2015 Fr ‘Z’; rwgggm 4806804040
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
A ,
6 T-1024 S“SDEJ”,S’O” Ball | rront Lower 4806804040
~ oint
TEKNOROT REF: T-1029 ADAPTABLEFOR TOYOTA
Suspension Control Arm and BASEMODEL PRE-
Ball Joint Assernbly RUNNER TYPE

Weight: 7044  Length: 4465  Bolt Metric: M16X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
TACOMA 2nd Gen 2005-2015  Front Left Lower 4806904040
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
A ,
6 T-1024 SUSDBJZ%?” Ball | eront Lower 4806804040*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: T-114 ADAPTABLEFOR TOYOTA
Steering Tie Rod

T P ——
o

Weight: 046  Length: 293  Bolt Metric: M12X1,25  Housing Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
STARLET P80 1989-1996 Front 4550319195
TEKNOROT REF. T-341 ADAPTABLEFOR TYOTA
Steering Tie Rod End

Weight: 0522  Length: 150  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

MR2 I 1989-1999  Front Right Right 4504619195

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: T-342 ADAPTABLEFOR TOYOTA
Steering Tie Rod End

Weight: 0522  Length: 1560  Bolt Metric: M12X1,25  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
MR2 I 1989-1999  Front Right Left 4504719075
TEKNOROT REF: T-824 ADAPTABLEFOR TYOTA
Lateral Arm " —S

Weight: 1814  Length: 822  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CH-R 1stGen 2016- Rear Right Upper 48760F4010
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
e 4 SB 1216 Lateral Arrm Rear 48760F4010% 48780FA010*
w Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: T-925 ADAPTABLEFOR TOYOTA
Lateral Arm e —

Weight: 1614  Length. 822  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
CH-R 1stGen 2016- Rear Left Upper 48780F4010
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
> SB 1216 Lateral ATn Rear 48760F4010% 48780F4010*
| Bushing

TEKNOROT REF: T-926 ADAPTABLEFOR TOYOTA

Lateral Arm
Weight: 1,416
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
CH-R 1stGen 2016- Rear Right Right 48770F4010
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
'.? SB 1059 Lontrol Arm Rear 48790F4010
< Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF.: T-827 ADAPTABLEFOR TOYOTA

Lateral Arm
Weight: 1416
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CH-R 1stGen 2016- Rear Right Left 48790F4010
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
;3 SB 1059 control Arm Rear 48790F4010
< Bushing
TEKNOROT REF: T-874 ADAPTABLEFOR TYOTA
Suspension Ball Joint RWD
Weight: 1259  Length: 822  Bolt Metric: 14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
TACOMA 1t Gen 1995-2004 Fr ‘Z’; Z;Zf nt 4333039565

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



5 TXNOROT

X o
QW sreenine o susrension ranrs ampaign

TEKNOROT REF: T-975 ADAPTABLEFOR TOYOTA
Suspension Ball Joint RWD

Weight: 1259  Length: 822  Bolt Metric: 14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TACOMA 1stGen 1995-2004  Front Left Lower 4354039445

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



